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Q.1: The orbital period of a satellite Mark(s): 0/4

A. o, LS e 7p = 21y (Qplita (a0 b pas s (o Ol shastia SIS Lagd (LS S
L N S Ab e gl Jean B
1’ N Y “
v i

' I

“‘ s\, A ,’f Two planets with equal masses are orbiting a star in two different
N R /s orbits, rz = 2r, , as shown in the figure. Which of the following is

‘\\ ]_;'_ /,” correct?

Use the following constants and formulas when required. /.o Léia A1) @ alaal) g ol @) addtis)
2
g=981N/kg ., G=667x10"11 A:ch
v? 5 _2mr o —ma A2y
ac = T i v = T i Alas. c i ac = Tz
O (@) geelim o fm s Gm
—| ={=) = ; v= |— = - =—
Tg e g rZ | r T=2m om 9 )

Learning Outcomes Covered

o PHY.6.1.02.003

Vg =Py




Q.2: Centripetal acceleration direction Mark(s): 0/4

ﬁ.ﬁe.\;gémgﬁukﬁ sdﬁdlgéoy1 13l Y gl o
A sl 558 sal) £ ll) ol e JSs (i il Laa sl . et
SISl B Caa o LaS JAuYT B ¢St Larie

The Ferris wheel shown in the figure moves in a uniform
circular motion in the entertainment park. Which of the
following shows the correct direction of the centripetal
acceleration of cabin A, when it is at the bottom as shown
in the figure?

Learning Outcomes Covered

o PHY.6.1.01.011




Q.3: The agent of a centripetal force Mark(s): 0/4

AN B Ca ob LaS ¢ Abibadd) B Aiial) 48 phaal) gy 43 jhaal) ) ) p gk Ladic
948 haal) B 5 fgal) Ay 38 yall B 6B Curay o 2) Jalall La

When a hammer thrower swings the hammer tied to a chain, as
shown in the figure, what is the agent of the centripetal force
acting on the hammer?

Learning Outcomes Covered

o PHY.6.1.01.011

The tension in the chain Qo) b okl 5 48
[
1 1
1 1
1 1
1 1
1 1
: The gravitational force on the hammer i3 jlaal) qﬂ 3 Al ddad) 5 g8 :
1 1
1 1
1 1
1 1
1 1
1 1
e ol

The weight of the hammer thrower a3 ) o)) 039

The air resistance on the ball 4 jhaal)l B3 fgal) £l gl Laglia




Q.4: Definition of uniform circular motion Mark(s): 0/4

(:"4ih'*,'la*‘)_‘,\_,asﬁ‘ﬂJﬂSﬂASJAJ\JMOAQJI?J@“‘d#L"jﬂm‘fi

Which of the following is a correct representation of a part of the path of a ball moving in a
uniform circular motion?

Learning Outcomes Covered

o PHY.6.1.01.011

b.

o
2
hesssssssssssee-

v
- - -
P | ~ v
. N
‘\‘:. ) Mo
Na a




Q.5: Definition of centripetal acceleration

€ el (538 s g lea; daliiia 4y 40 AS ) pan 3 e Ladie i i Laa i

Mark(s): 4/4

Which of the following changes when an object is moving in a uniform circular motion with a
constant centripetal acceleration?

Use the following constants and formulas when required. /.o L L0 cifalaall g ool gil) aasi)

2
g=981N/kg , G=6.67x10"" "I’CT’“
v? 2nr F B | At
ac=— | V= Uoae =M Ac = =53
a\3 mym, 3 Gm
2) ' E=G = r =
(T‘B) g r? v I=2m |— 9=z

Learning Outcomes Covered

o PHY.6.1.01.011

The direction of the object’s velocity

The magnitude of the object’s velocity

ehuae-“ :\Sﬂ e

The length of the path’s radius

Jmlﬁdmid‘gb

The period of the object

vl (g gl a3




Q.6: Weighlessness

Mark(s): 0/4

€ Aladl) & gall Ja13 (3501 B g Al aliily gLl 3 g, iy Al

spacecraft?

Why does the astronauts experience apparent weightlessness in the

Learning Outcomes Covered

d.

o PHY.6.1.02.003

There are no contact forces exerted

Sl (g 58 o)

There is no gravitational force exerted

il o ¢ alundl

The mass of the astronauts equals zero

sladl) 3l g, PR fnha.'il

There is no gravitational field exerted

dailad) Jana alaadt




Q.7: Direction of gravitational force Mark(s): 4/4

OB LB g JSAY (B (a2 LS plandl Lagudany (a Allss Jlo (laniy gy
Al cilabial) cra si Al 368 AY) Lo Cpanad) e JS S alad) idal)
08581 Ga JS olad) gaa JS (ol
@ Two objects are placed at a distance from each other as shown
in the figure. According to the law of universal gravitation,
each object exerts a gravitational force on the other. Which of

the following diagrams correctly shows the direction of the two
forces?

Learning Outcomes Covered

o PHY.6.1.02.003

E

g




Q.8: Kepler's Second Law Mark(s): 0/4

@ T b 5 a s Adloual) s (a1 il 13) ¢ LT A ¢ BN Conea

a ] a 1 i . 1a e 4 . a b
'ﬂ : ’\ e g.l"\,j Laa sl ed s ¢ O Alleall 4y ehm ‘ug.ﬂ! Sl Ol Pl
2 Laa ‘
b b According to Kepler’s second law, if the time that
) Earth takes to move from a to b is equal to the time

that it takes to move from c to d, which of the following
is correct?

Learning Outcomes Covered

o PHY.6.1.02.003

Area (1)= Area (2) (2) dabaal) = (1) 4ablud)
Distance from a to b = distance from ¢ to d dycmiaadl = b ga Cm Al

Earth velocity from a to b = Earth velocity from c to d docomoalde m=b ga o= oa ¥ de

Area (1) is larger than Area (2) (2) “abaall ¢ S) (1) Akl




Q.9: The gravitational field Mark(s): 4/4

S8 s 10 (g) Adlad) s S0 A e, 6000 km o skd il 4. 8 X 107 Jeg 3, 301 S 58 ALS jls
A 3

The mass of planet Venus is 4. 8 X 10%* kg and its radius is 6000 km. What is the gravitational
field (g) on Venus’s surface?

Use the following constants and formulas when required. /.a 3k Laéua 40 céalaal g el gill adssu)

2
g=981N/kg , G=6.67x10"11 fiTm
v? ; _ 2mr CF —ma : 4m2r
Ge =7 YT e o 4= Tz
(&)2 _ (@)3 Cpgmme o Gm P Gm
Te) \p) o T ez VR T=2men 897

r Gm 7,-2

Learning Outcomes Covered

o PHY.6.1.02.003

R —
@
-]
)

L

b.
9.81"
Bl

c.
9.30 Y
305

d.
N
5.00-—




Q.10: Kepler's Third Law Mark(s): 4/4

e ™ S 5l g5 9al) a3 (o Analy 1) M) i YD Cha o ¢ QL) AN ¢ gAY U g
NS el G g A ) Jos g g

According to Kepler’s third law, which of the following represents the
mathematical relationship between the period of a planet and the mean
of its distances away from the Sun?

Learning Outcomes Covered

o PHY.6.1.02.003

ey
-
ey
o -
d.

3

G =)




Q.11: Kepler's First Law Mark(s): 4/4

SN i ge ga LaS i) jlaa B oS o€ dlaiy ¢ LS J ¥ 0 A
Tomadl) pud g 58S o) (e DAL G B

According to Kepler’s first law, a planet moves in an elliptical
orbit as shown in the figure. At which points the sun might be
located?

Learning Outcomes Covered

o PHY.6.1.02.003

AorC

BorD

DorE

D only




Q.12: Centripetal force ad radius Mark(s): 0/4

Cial )98 Cuay daliila Ay ila AS ja Ll de pudly AT U gloda G5 S o8
faia b laa gl (g = 21) Ll L jh Gl i oY) e kb
£ 80 Ga J8 A0 5 Al Ay S sall 5 gl dailly

mg 2r

4 Two balls with equal masses are moving with the same speed in
m\z\ a uniform circular motion. The radius of the path of the first
Y ball is double the radius of the path of the second (r; = 2r5;).
Which of the following is correct in terms of the centripetal
force acting on the balls?

Use the following constants and formulas when required. /.a 3 Wi 4000 e alaall g cu) Bl addial

2
g=981N/kg , G=6.67x10"" "I’CT’“
v2 ; 2nr F _ Amr
A e

(T2 3 L ommy l6m | s Gm

Learning Outcomes Covered

o PHY.6.1.01.011

F, =2F,
Fy
F,=—
)
F,=F,

F, = 4F,




Q.13: Moving in a uniform circular motion Mark(s): 4/4

B Baalg Bl Jald 5 aash Jga 5 m/s A8 e AU A 3 1B & e
Skl jhd il Johla, 15 5 8,88 ()

A motor bike rider moves with a velocity of 5 m/s around a
circular road and completes one round in 15 s. What is the
radius of the road?

Use the following constants and formulas when required. /.pjL s aal) eafalead) g e gl PYESIV]

2
g=981N/kg , G=6.67x10"" ’%‘
v2 2mr F - ma Am?r
a. = T v = T done — (o A- = TZ
(E)Z _ (@)3 Cpegmm_fem . Gm
Tp ] g r o r=2m tm g_ﬁ

Learning Outcomes Covered

o PHY.6.1.01.011

S ———
1
1
a.,
1
1
1
1 1Z2m
1
1
1
1
1
1
Ko i o o
b.
3.0m
C.
2.0m
d.

37m




Q.14: Centripetal acceleration and speed Mark(s): 4/4

P e oh LS ¢ okl Chial BB 5,00 Jlaia AL 5N g daady 38 0l sy
/ i @8l g oludll oa L, v WES e (585 Ladie . g gbuw BUSH (g 38 sall g o) Jeid)
s € 20 ) A ) 2 5 21513 5_sU

"‘\ \ 5 Rashid tied a ball to a string and whirled in a horizontal circle with

' O a radius r, as shown in the figure. The centripetal acceleration of the
. e ball is a, when its speed is v. What is the centripetal acceleration of
et the ball when Rashid increases the speed to Zv ?

Use the following constants and formulas when required. /a3 L 201 cNalaall g ool ) asdio

_q1 N.m?
g=981N/kg G=6.67x1071" —
v2 2mr F - ma Am?r
= — : vV=— : b - H = —
a =~ % T | il c | e =~
(&)2 -(2y CopegMme o fem s Gm
Ty g 7 r2 r TZZH\ cm | 9=z

Learning Outcomes Covered

o PHY.6.1.01.011

r
1
1
a.,
1
1
' 4a,
1
1 [
1
1
1
1
1
[
b.
2a,
C.
at’
d.
at’




Q.15: Definition of the centripetal force

Mark(s): 0/4

Slabiiia 4y 4003 A8 a O ahy s A0 5 5gal) Ay 38 al) 5 81 alad) g e s JSdy iy V) J gl G siua (ja sl

Which of the following table rows correctly describes the magnitude and direction of the
centripetal force acting on an object moving in uniform circular motion?

438 4al) B gBY jlaBa 438 yal) 3 gBlY alal)
Magnitude of centripetal force Direction of centripetal force
Ay i Sy i
A Changes continuously Changes continuously
ey ey i
B Constant Changes continuously
Sy i T
C Changes continuously Constant
D ENL el
Constant Constant

Learning Outcomes Covered

o PHY.6.1.01.011

a.
B
b.
A
B e e e e e e e e e e e S mmmmm s s smmmmms=— ===
c.!
- C
d.
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Q.1: Kepler's Third Law Mark(s): 0/4

3229 0.06 o) shd Chuai i gia fu A S8 aad Jga GLS S SN
o9l Al Bang 0.24 o lda shd Ciuaihugia iu B oSSl
SA oSSl o) (3l 52 L .200 days

Two planets orbit a star. Planet A has an average orbital
radius of 0.06 units. Planet B has an average orbital radius of
0.24 units and a period of 200 days. What is the period of
planet A?

Use the following constants and formulas when required. /.a3b Léia 408 cifalaall g cu) 65 i)

2
g=981N/kg G=6.67x10‘11%
v? 2nr ; B | A2y
=2 v= o aemmee ac=—y

MnE and o omme o fem [3 Gm

Learning Outcomes Covered

o PHY.6.1.02.003

a.
25 days
b.
50 days
C.
79.4 days
T R T T R e e 1
d.

100 days

P e e e o o
I a mm mm omm omm o
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Q.2: Definition of centripetal acceleration Mark(s): 0/4

\ Sl g ga gh LS ¢ B g ila laaa (B L 9 g sk (pu 58 e by
Sdaliiia dy il AS o) 0683 S Wl LB o a0l Y 0

Majed connects a tennis ball to a string and whirls it horizontally in
\ / a circle, as shown in the figure.

O Which of the following should be kept constant to ensure a uniform
’ circular motion?

Use the following constants and formulas when required. /.a3% L Aal) e alaal) g ol gil) asdio

2
g=981N/kg G=6.67x10‘11%
2 E i | 2
v . 2nr . ‘ 4mer
—_ : — : F. =ma : —
a,. = " | v T 5 Lo ¢ | a, = 72
() -(@)  peetgE o fim A B
TB . g r2 r T=2m % g= )
Learning Outcomes Covered
o PHY.6.1.01.011
a.
The length of the rope vael;(()lc‘i:ltl; maghnitude of the ball 5 A Jldiag Jiadl J ol
b.
The length of the rope only asé Jaal) Jgha
... . . .. e e e e e - k|
c. 1 1
I I
: The magnitude of the ball’s velocity only i § <) A o liha :
1 1
1 1
B oo oo oo oo oo oo e omm omm omm omm omm omm omm omm omm o mm omm o mm o mm mm mm mm e e e e e e e e e mm mm mm mm mm mm mm mm d
d.

The magnitude and the direction of the ball’s velocity 3 SN Ao i slail g laia
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Q.3: The gravitational field Mark(s): 0/4

T o (g) Al Jae Badi dadila L 1,19 X 106 m ok chuaiy 1.3 X 1072 kg sish o868 A8 s
gk oS

Planet Pluto has a mass of 1.3 x 1022 kg and a radius of 1. 19 x 10° m. What is the
gravitational field (g) on Pluto’s surface?

Use the following constants and formulas when required. /.a3k Wi Aty e alaal) g ol gil) asdi

= - -11 Nm?
g=98IN/kg .  G=6.67x107"==
v2 _ 2mr F. —ma 4m2r
ac = T v = T i lass c a. = _T2
(T_A)z () CpegM™  _|em s Gm
s e Y ) ; = T=2m | — 9=z
Learning Outcomes Covered
o PHY.6.1.02.003
a.
0.61Y
kg
P e e e e e O W S Em Em Em Em Em SR SR SR R S o E o= = 1
b. ! |
| |
1 N |
| 9.81k—g 1
1 I
| 1
| 1
b oo e e e mm mm e mm mm Em EE E EE O EE S EE B N BN M N B N N N BN N BN S BN EE S EE O Em e mm mw o
c.
6.30Y
kg
d.
N
5.00—
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Q.4: Centripetal acceleration direction Mark(s): 0/4

‘."aue.u é})ﬂ\&)@ﬂ‘bl@ib)‘ﬁdw‘qwmgﬁgw‘éi cmagjl.\as‘)awd\)aﬁgh.\b

‘When an object is moving in a uniform circular motion, which of the following is correct in
terms of the magnitude and direction of the centripetal acceleration of the object?

@ 38uall g oludll s)88a @ 38all g oludl) slas
Magnitude of centripetal acceleration Direction of centripetal acceleratic
s s
A Constant Constant
iy s o
B Changes continuously Constant
o Ay 5
c Constant Changes continuously
N Ay iy Ay iy
D Changes continuously Changes continuously
; Learning Outcomes Covered
o PHY.6.1.01.011
a.
C
R N N R T e e |
b. 1 I
1 1
1 A 1
1 1
1 1
1 1
I T T T T T T e T T I |
C.
B
d.
D
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Q.5: Definition of the centripetal force Mark(s): 4/4

Saale 5 Jfipall 43S sall B 68l (% ool (g (B ¢ B gt anin W a3 pal) Alal) olai] ¢ 68 Larie

When the centripetal acceleration of an object is towards the East, what is the direction of the
centripetal force acting on it?

Learning Outcomes Covered

o PHY.6.1.01.011

o e e 1
a. | 1
1 |
! Towards the East Gl gad I
1 |
! |
! |
B o oo oo oo oo oo e omm omm omm omm omm omm omm omm omm omm omm o mm o mm o mm mm o mm e o e e e e e e e mm e mm mm mm mm mm mm d
b.
Towards the West Gl gad
C.
Towards the South cgiall gad
d.

Towards the North Juadd) gad
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Q.6: The orbital period of a satellite Mark(s): 0/4

B9 Jalag raﬂdmi)hgéub)mdp”gmmg&m\)é
na oS« 2m N Sliall bl AL @ 313 LT (e o8 s Adals
A el G 3l

A satellite of mass m orbits the Earth in an orbit of radius
r and completes one revolution around it in time T. If the
mass of the satellite increases to 2m, what will the period

of the satellite be?
Use the following constants and formulas when required. /.a3b Wi L0l cifalaall g <ol 65 asdsiu)
2
g=981N/kg , G=6.67x10"112"
kg?
v? 2nr F. =ma 4mr
a=3  v=F  Faemme -
(TA)Z (TA>3 F_Gmlmz Gm r3 Gm
TB . : g r2 r 5 T=2m C : g r2
Learning Outcomes Covered
o PHY.6.1.02.003
a.
T
b.
2T
Pl i i e e e e e e e e e B N R m . E E R R E R EEEEEEEEmm 1
C. I |
| |
1 T 1
| 2 1
| 1
| 1
e — d
d.

NP
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Q.7: Kepler's Second Law Mark(s): 0/4

b 5 a O Adlaal) adalls (2,1 il 1) (Ll A ¢ gl Caua
Qa ?&Mgﬁiem‘;isd\gc(&nﬁw\@@ﬁﬁéﬂ\&n}\uﬁgﬂ

_,o b According to Kepler’s second law, if the time that

' Earth takes to move from a to b is equal to the time
that it takes to move from c to d, which of the following
is correct?

Learning Outcomes Covered

o PHY.6.1.02.003

a.
Earth velocity from a to b is smaller than its velocity dscomoaM As puon il b g a om oa N i
fromctod

b.
Area (1) is smaller than Area (2) (2) Aabuwall (14 Jai (1) Aalewadl

C.
Area (1) is larger than Area (2) ) faleall (1 sl (1) 4alual)

d.

Earth velocity from a to b is greater than its velocity

S g N Ay (e S S ga N s
from c to d dscimoalae i n Sib ga Gn oa ) 48w
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Q.8: Weighlessness Mark(s): 0/4

S bl & gSal) Jala ¢yl B g ALl alaaily pLadl) 3l gy sady al

‘Why does the astronauts experience apparent weightlessness in the
spacecraft?

Learning Outcomes Covered

o PHY.6.1.02.003

a.
There are no contact forces exerted i) (5 68 alaad)
b.
There is no gravitational force exerted Al (5 8 alwadl
N N N R R R T 1
C. 1 |
I [
1 The mass of the astronauts equals zero gliadl) 3l g ) AL a)an) 1
I 1
I 1
I 1
B oo oo oo oo oo e e e e mm mm mm mm omm mm mm mm mm mm mm mm mm mm mm mm mm mm mm e e e e e mm mm e e e e mm W
d.

There is no gravitational field exerted Aiadl Jla aladl
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Q.9: Centripetal acceleration and speed Mark(s): 4/4

thcuiGHrb)ﬂMgﬁi éﬁ\é)@@m@jiékpgé*u.\ﬁ
v Al 1) anuall (538 sall £ bl g La g 41 (5 38 sl £ luall ¢ g8 JSA) A (pasa
m ?mumﬂd\m&,ggbmuﬁdm

An object is moving in a uniform circular motion in a horizontal
circle with a radius r and a velocity v, as shown in the figure, so
that the centripetal acceleration of the ball is a.. What is the

centripetal acceleration when the radius of the path is reduced to %
and the speed is kept constant?

Use the following constants and formulas when required. /.a3b Léua 401 cifalaall g <ol i) asdsiu)

g=981N/kg , G=6.67x10"11 "%‘z
v? 2nr F _ am?r
=2 v=7 Faasmee =t
(N g fem s m
Learning Outcomes Covered
o PHY.6.1.01.011
el B i B B B 1
a. I I
I I
I 20, I
I I
I I
I I
e ——— |
b.
4a,
c.
a(.'
d.
at'
2

Q.10: The gravitational force Mark(s): 4/4



e pUlio I VI VY MMM e,y & T IVE

A Ol o IS i ol Laguany (Al o (o gy esie
o AN Al o guu ) Ca o alad) adad) oy oY T8 g Audla 3 g8y LAY
Conaniad) (o 2l g dadlad) 568 (y Al s Sy

@ According to the law of universal gravitation, when two
objects are placed at a distance from each other, each object

exerts a gravitational force on the other. Which of the
following graphs correctly shows the relationship between the
gravitational force and the distance between the objects?

Learning Outcomes Covered

o PHY.6.1.02.003

r L |
| | |
a. 1 |
| 50 |
| I
60
1 z 1
o
| g 40 AY |
k3 AL W I
| 20\ |
AN
| | |
1 o 05 1
Distance (m)
| |
| |
L o o o o o oo oo o o o e e mm e e mm mm e e e mm mm e e e mm e e e e mm e e mm mm e e e ol
80
60 /
g £
g 40
& /V
20
)4
0 05
Distance (m)
C.
80
ot
. 60
€
¢ 40
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Q.11: Definition of uniform circular motion Mark(s): 0/4

A O @ ARl wie B jluad) Ao o o) Aadiiia & 5003 A8 ja Bl & o
§ b Aaiil) xie 580 A s alad¥ riaia Jiiad i Laa sl g8

A car is moving in a uniform circular motion. The direction
of the car’s velocity at point a is shown in the figure. Which
of the following is a correct representation of direction of
the car’s velocity at point b?

Learning Outcomes Covered

o PHY.6.1.01.011

a.
b.
—
C.
—_—
P = = e mw mm o mm o mm mm mm mm mm mm o mm o Em o Sm o Sm Em = R N B S M S MR E E M E E E E EE EEEm == L
d.
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Q.12: Kepler's First Law Mark(s): 0/4

) b ge ga LS alila) glae S o€ ety ¢ LS I g ¢ giE) s
S uadill L ga 3985 O ¢Sas ¥ JalaLY) G

According to Kepler’s first law, a planet moves in an elliptical
orbit as shown in the figure. At which points cannot the sun be
located?

Learning Outcomes Covered

o PHY.6.1.02.003

a.
B,Dand E
e o —— R e e e 1
b. 1 [
[ [
! A, DandC !
[ 1
[ 1
[ 1
L oo o oo oo e o e o e e e e e e e e e e e o e e e e e e e e e e e e e e e e e e = a
C.
DandC
d.

Aand C
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Q.13: Moving in a uniform circular motion Mark(s): 0/4

U.A\SSJJJ&Jc3,0maﬂd@4@u@dﬂ\bbd@@0@udg
Soaal) de yu Jiia e 40 sec A

A horse on a carousel, moves in a circular path of radius 3.0 m,
and needs 40 sec to complete one round.
What is the speed of the horse?

Use the following constants and formulas when required. /.a3b L 0l cialaall g cu 65 asdsiu)

— — -11 Nm?
g=981N/kg |, G=6.67x10 P
v? _ 2nr F =ma am?r
4= T e B A ¢
(T_A)z_(r_/afé pogM™ o fem s 6m
Tr n 9 r? _\ T T=2T[‘ ﬁ g_?
; Learning Outcomes Covered
o PHY.6.1.01.011
a.
0.47m/s
b.
1.41m/s
sl i i i i i 1
c.1 |
1 1
: 8.38m/s !
| [
| 1
| 1
U R .|
d.

0.07m/s
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Q.14: Centripetal force ad radius

MMM e,y & T IVE

Mark(s): 0/4
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Two balls are moving at the same speed in a uniform circular
motion, on a circular path, as shown in the figure. The mass of
ball(2) is double the mass of ball(1) (m; = 2m4). Which of the
following is correct in terms of the centripetal force acting on

the balls?

‘ Use the following constants and formulas when required. /.a b s A} cifalaal) g cu &Y asdiu)

Learning Outcomes Covered

o PHY.6.1.01.011

2
g=981N/kg , G=6.67x10"11 %
v2 , 2nr F _ 4m?r
aC:T U=T s, — MAc 3 a. = T2
(T2 a3 mym, ‘Gm Ir3 tm

a.
F, =2F,
b.
Fy
F, =3
C.
Fy=F,
d.
F, = 4F,

Proe e e e omm o oy
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Q.15: The agent of a centripetal force Mark(s): 0/4

(Sl A a9 LaS ¢ Adudiad) B Asfial) 48 laal) gy A8 shaal) el a8y Ladie
43 jlaal) 5 il 4338 sal) 5 68 Cua ) Jalal) L

When a hammer thrower swings the hammer tied to a chain, as
shown in the figure, what is the agent of the centripetal force
acting on the hammer?

Learning Outcomes Covered

o PHY.6.1.01.011

a.
The tension in the chain Aol B2kl 3 g8
b.
The gravitational force on the hammer 8 jhaal) 85 Jigal) dpilad) 368
P e e e e e e e = e e e e e e e M e e e e e o = = 1
c. I |
1 1
i The weight of the hammer thrower 8 jhall )y 09 !
I I
1 I
1 I
I o o o oo oo oo oo e e omm omm omm mm mm mm mm mm mm mm mm mm mm mm mm mm mm mm mm e e e e e e e e e e e e e o]
d.

The air resistance on the ball A haal) B35 Jisall o) gl Laglia




